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s <« = 0.29 - 0.29 0.18 - 0.18 A0.11
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- - S 0.13 - 0.13 0.53 - 0.53 +0.40
3N 5 = 4.25 - 4.25 3.47 - 3.47 A0.78
g TR 1.67 6.32 7.99 0.78 6.93 7.71 ~0.28
A A Y 93 0.14 - 0.14 0.13 - 0.13 A0.01
i Al 4 2.88 0.98 3.86 3.18 - 3.18 A0.68
i & B 4773 6.29 54.02 47.21 8.91 56.12 +2.10
m 5 % - - - 1.55 - 1.55 +1.55
= 7t B & A 0.16 - 0.16 0.17 - 0.17 +0.01
= 5 = A3 4 451 - 451 6.14 - 6.14 +1.63
ERC IR R 0.04 - 0.04 0.07 - 0.07 +0.03
= 7 <k Hd A - - - 0.43 - 0.43 +0.43
= Ll 57 1.09 - 1.09 7.85 - 7.85 +6.76
()T E3 I 5 - 0.10 0.10 - - -
T E u B R - - - - 0.09 0.09
7] 3 %] 1.20 0.07 1.27 1.53 0.06 1.59 +0.32
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(MEEFAET | 12.23 13.52 25.75 - -
THFAAEFR - - - 12.74 12.02 24.76
FEN5AH 10.55 0.34 10.89 14.40 0.43 14.83 +3.94
o A # A 0.32 - 0.32 0.32 - 0.32 0.00
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= R = 0.03 - 0.03 - - - A0.03
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v 2 =785 8.44 2.63 11.07 8.26 2.73 10.99 ~0.48
H 7 57 0.30 0.25 0.55 0.23 0.29 0.52 A0.03
25 A 7 12.98 19.94 32.92 11.67 18.78 30.45 ADAT
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R B R - - - 3.23 - 3.23
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